R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4906-09.dwg, TX-4906

STy, y S

Soxind g £3 0
POWERED BY | % ok 1 X2 NN
EhDURA l l - 74" MAX. O.A. FRAME WIDTH gg iGig AN
T g, T “y SE8
. g%%?géw 3 §3 £33
DOOR COMPONENTS MADE IN THE USA Gun TG §F EEB O
W, ig T 33s 8
R s 88° ¢
B ndeeS 8 oxs
/ Pogsg ¢
, P 322 ¢
. /// ) X
Glazed Fiberglass Door / IS}

[+

o

"NON-IMPACT"

0}

INSWING / OUTSWING s <= 3

xz ob 0

s ; jus Q

<5 X X A

Pz < o =z

o= =T @ < (&}

5 B i [O) Q 3 =

<5 dg s |3

_2 i [T uZJ =2 3

© 3 2 2

EVALUATED FOR USE IN THE STATE OF TEXAS - / c; 5 é‘f

The Glazed Fiberglass Door system described herein complies with the 2018 / 8 E S
Intemational Residential Code (IRC), Sections R301 & Ré09 and the 2018 / // x g

Infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 ;

subject to the following conditions: / g

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies

Lt
Q
o
3]0
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. ’Qot 8| ln
3. Allowable design pressure requirements must be equal to or less than the o ; g
design pressure rating shown in the design pressure chart, sheet 1 of this Ela| |@
drawing. N
4, Conditions not covered by this drawing are subject to further engineering s S
analysis. S|
15
8 5
TABLE OF CONTENTS o
SHEET# | DESCRIPTION } E
1 Typical elevations, design pressures & general notes XX INSWING + 50 O . 50 o + 55 o - 55 o + 4 5 o - 50 o g 5’:
2 Astragal details (Ulfimate Fiip Lever) PINE : ’ ) . ’ : S
3 Astragal details {Uitimate Multi-point) N
+ - - -
4 Astragal details (Ultimate Huricane) XX OUTSWING 50.0 50.0 +55.0 55.0 +45.0 45.0 oatE: 11/8/18
5 Door panel details {lip lite insert glazing) Scate: N.T.S.
6 Horizontal & vertical cross sections XX INSWING +50.0 -50.0 +50.0 -50.0 +45.0 -50.0 oWe. 8. JK
7 Vertical cross sections "FusionFrame" ok v LFS
8 Frame anchoring XX OUTSWING +50.0 -50.0 +50.0 -50.0 +45.0 -45.0 DRAWING NO.:
TX—4806

CERTIFICATE OF REGISTRATION # F--11852

PRESSURES & GENERAL NOQOTES

SHEET ] ofF 8

© 2018 R.W. BUILDING CONSULTANTS IND.



2y
(2) #8 X 1-5/8" PFH £3 9.
WOOD SCREWS £ EX @ uB
oty Z -
UPPER BOLT SLEEVE 2 Gy S 8y
(REINF. POLYMER) Zoi ;, g
%’ - t" ‘ -§§ E 8 g gz
2, A 3 € 2tw Q0
LNV < > Jdg0 0k
Gt Z E e pon @
iy iz {eR e Zon &0
T daens™ & Ovx £Q
{TRIM COVER REMOVED) - 2 é f "o“ :
g 3455 o0
£ 3ot &k
m
[
, 46 5 St
5 S :
=~ ANCHOR SCREW LOCATIONS 5
| —
[l
g
L
& o8
=
» m
[ ALUMINUM BODY & & gﬁ’
ol B2
5 o <BJ
HARDWARE LOCATIONS 2 i
O ©
& &
(2) #8 X 1-5/8" PFH ol T
WOOD SCREWS 2 1%
Ly
[m]
je}
K0
3|€
N
S|2| |2
1.75" ' 0|0 IO
EiIo) 2
P, hd >
#8X 2-1/2" PFHWS ——— ||| Lol @
/ 8XZ/ S DEADBOLT STRIKE SIB| |
PLATE K
=1 <C
H ® 3 Q
#8.X 2-1/2" PFH WS s al3
<C
UPPER/LOWER BOLT o / LATCH STRIKE .
LOWER BOLT SLEEVE ACTUATOR LEVER (ZINC) Nt 7 PLATE N
[ALUMINUM) X | S
0.063 <€
; [}
LATCH & DEADBOLT DETAIL =
N - |z
jl oatE: 11/8/18
= scalE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
ULTIMATE FLIP LEVER ASTRAGAL ASTRAGAL SECTION DRAWNG NG
TX—4906

SHEET 2 oF 8

Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-49090\C - Drawings\TX-4906-09.dwg, 1-2

© zo18 R.W. BUILDING CONSULTANTS INDC.



CON] SANVLINSNOG anNIigung "m'd gLozg @

ZS8L1~4 # NOUWMISIORN 40 ILVOIHLLNID _ SNOISIAIY
SYIINION3 TVNOISSZIONd 40 Q¥VOE SVXIL (INIQd—LIINW 3LYWILTN) Ad 41v3 [ON| ©
SVL3a IYOVHLISY 2slxlo] ©
L616°659°CL8 FON oUOUd ‘ 3002 241/281 8102 0L 31vadn NI
GBGEC “14 OOMIDA 0£Z %08 'O'd SM% SA18N3SSY 80 1uvd [s97 % NOldO ,8wpJjuoisny —aav| 61/¢z/6 | | m = 9|0
*ONI *SINVLINSNOD ONIGUNG - . g 1 3_
= |&|&|g X
SZIPOLF "I'd SvXEL VH4NAN3 i M olylZ &
Ad .uvwc._com ‘4 uopuiy 1Ag petpdeld sjuswnoog :10NQ0Yd g9 nwu 515 &
(28]
Y4
[
[y
ettt [ 72/
WOLLOg N 5
~ [ M
s : Teasa * M Q.
A PR 5% i
N %, G TR A Hin #
LXCR Ay I i 5 .
L 3 AN It 5 | &
e | 2 « / &
1 n AWV i Y| x
14 o) |*w — o O
{8 — _ L]
- 3
i R S0 5
2 - 1358
K 0 g
< a 2
=) T
o a
< | ~ -
] Mw mﬂ
) T 5 2 &
: >
s | & =
< E: S
Q)
Q
" -
_ R 3 3
~ o
™~
2 | 8L |
5 - |
& s
Q =
=z 3]
< ! |3
(70}
o » /— nm
= [®)
3 & M(U ..m
— % %)
S <
]
in
I ™~
T WG9'C
! % \n
| ~
i Mo L
. o 1
| : u
5
Q. w
d o Q o P
U | = . & = =
] fn%d C
[ C (%]
doL s 2 4 -
I 3 T
s 5 8 9
s 2 2 =
-— [m] p =
2 O o D
0 N ©
° = < o~
= v )
o B — v
:a w ®
2 = = g
= S
[ Q. 1)
2 . S 2
o W N
& A &
=8 2 /> A\
~ 0 LL
Xm £ g | A S S
2o} L W——
*x 2@ — el \WINEEL G-
e O M Q A o]
= o X S 77 o
i o 0
5 0 <
< O c o
o = ‘& £ o
Na== o 5 )
~0 i az [ A
l\ ¥ - O =] -
4 K AW W a— - ] o~
e \J #
NI \— N £ $ m
et - 9] F—
c / Y [\ .m =3 u
2 [t w fo sl
£ ‘A o nw U
£ o - . M
=2 m e > (5
© & S 3 2 —
5 _ 53 £ <
O S <o 2 =
s o 5 2 =
- 8 = < D
: g N
pune |
o
5 . [\
N N\ T M- - ). ] S 1 e, AN A

€-1 'BMp'60-906F-X L\sBuImelq - D\B06t-706r) 100p D4 3UUOSB Z1D UYsN|4 8LOL-YA - 1AL\SU] 0 3daQ sexa] - g\LNINVINYId BInpua\sIuaiVy



TON] BANVLINSNOG SNIGTNE "M'M 4L 02 @

T Pz o oo (vomgny i) g — SV ToN | o
. %5} )
£616/659°C18 FON ouoUg . 3000 081/281 8102 0L 31vadn NIZIES S
GBEEE "1d OOMIDA 0£Z Xog .o.mgg ‘ATEWASSY M0 Livd | 547 %® NOIdO  8wp.ijuoisny, qavl 61/cz2/6| | W.W ~ = . w &
"ONI "SINVLINSNOD ONIGNg NS g | 4_
-~ > >l >
SZTIPOLF "F'd SVYXIL YHNAONG iy M ME = L
‘A'd IPIMYOS d uopukl  :Ag peibdeid sjuBWINSO( 1onaoyd W m z m m M
(8
X
(24
2 Y
—
= o
o
T
£ g5 4
O a M o N
=
o
ot
(o]
a
Q
;
——— Q
o3
e
]
=2
[ 3¢ [7¢d
= =z
I T
L. .
o o
o) & 3
® > =
o ©
e et
[%2) = -
4 <C
e g 29
< m W£E0 IV_ Tf nMu e >
QO e —t 3 —
S 3 T 22
= L2 : 2
) - 3 2
ae RIS 2= > & <
2 % <|O ® =T m_m
O T G|= e Ol ol
Z x|z @Bl &
e w1~ <
Qe . = =
:m,.O |.|'.* _." * m
£ 3 2
=z o <
< 5
-y
B Q
5 &
0 >
: ©)
— 5
N T -
= dOl Eg 3 &
= {1 . —
D N <
0 o O
> & =a * ~‘ <
b W o O = =
s a2 8 2
50 = S
w o o
e
m m _.m.-.v.N b
a o2 . —
=] = <C
@ O
Q <
3
& 8’4
o e
m 2
g LLl
o =
[7¢d =
¥ E w Z
22 B8 S
¥ g W C
- m = W -
o Q - > oz
o] oz
*Q 2= >
¥ 8]
o =
3
P
A i I.L
» T ° T -

-1 ‘BMP'50-9061-X L\sBuimed - D\(606-706v) J00P D4 BUUOSEIN Z1D Usni4 8L0L-¥A - laL\sug 4o 1daq sexal - a\LNINVIANYId ednpua\sIualoNy



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909\C - Drawings\TX-4906-09.dwg, 1-5

21" MAX D.L.O. WIDTH

STILE
(LAMINATED WOOD)

STILE

EXTERIOR

Y

(LAMINATED WOOD)  \

WOOD LOCK BLOCK
(12" LONG)

35.75" MAX.

PANEL WIDTH

79.25" MAX. DOOR
PANEL HEIGHT

[ —
5
>
ig -
30 .
a
SEE HARDWARE | -
TABLE

—

MASONITE
Flush glazed
{fiberglass)

\
INTERIOR 16"
@ HORIZONTAL CROSS SECTION
5
GLASS BITE 3/4"
EXTERIOR POLYURETHANE SEALANT

— 1.0" NOMINAL GLASS THK.

1/8' TEMPERED GLASS
/
”—— AR SPACE

-

é

AN "~~~ 1/8" TEMPERED GLASS

STEEL SPACER
INTERIOR

G2 GLAZING DETAIL
Flush Glazing

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES (991)

DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

ATLAANA S

ool — %//

tyndon F. Schmidt, P.E.
TEXAS P.E. #104123

09" — =]

FIBERGLASS SKIN

(0.075" MIN.) \\ ;7'

INTERIOR EXTERIOR
FOAM CORE
(POLYURETHANE )t
i3
BOTTOM RAIL SR
(WOOD COMP.) T U IR \ :
\_
AN

-— 175" —=]

@ VERTICAL CROSS SECTION
5

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

PRODUCT:

wn
=
<O
h=
aNg
= S
v
5 gw
[
= <xT
awn
N e
8&5
Q

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/23/19 |ADD . "FusionFrame” OPTION &

1

NOJ DATE

oaTE: 11/8/18

ScalEe:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4906

SHEET 5 ofF 8

@D 2018 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 1-6

2N/ 32\ 2X FRAMING 2X FRAMING Sy i,
= = 0. S i o
6 N6/ (G>=0.42) - DRYWALL (G>=0 <2) _ DRIWALL | o >lig i, g3 0
~ ¥ , Fo iEE EXL 8 us
/ / EXT. SHEATHING EXT. SHEATHING bl }4 o éé“f% futi w é 25 f;
/ / ’ - i - B WIS 15 7.0 BE
1114 1 #10X2-1/2" PFH (110 as x 88. Po
2 i O @ OdN = gm
W h ] WOOD SCREW a v 052 4F
, . 8 Za, Sy
1/4" MAX. 1 5 1 | 8 245 o
A ¥ B [ 2= E
X X SHIM SPACE e 1 T 10X 3" PFH 2 Rak §5
71 2) 25 & MAX. | WOOD SCREW 2 § E
co= . g In]
&/ ° SHIM SPACE E R é 8
] = 00p000)] §
DOOR PANEL DOOR PANEL
// // \ ? \
/// /// HEAD: PINE HEAD: "FusionFrame™ {1-PIECE) 2
/ / 9
/ / ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP Q0
X (QEBD/PE 650) X (QEBD/PE 650) - Lﬁ%
> < o o S
EXTERIOR INTERIOR EXTERIOR INTERIOR S g 2,
— B —_— 5 s
yd Ve ~ 2 (3" VERTICAL CROSS SECTION 5 &9
4\ 3 1 2\ VERTICAL CROSS SECTION | $§ 8. 7 SF
CORNER PADS v 7 7 \U Outswing shown - inswing also approved \U Outswing shown - inswing also approved i o
(TYP.) 2 S I
o a4
o <C
[+ 0.
>_
0.15"
174" MAX. e e CSINK 1/4" MAX. ®
SHIM SPACE (vp) SHIMSPACE  gx1. SHEATHING
EXT. SHEATHING JAMB: "FusionFrame”
JAMB: PINE (1 OR ZPIECE]
0.75" 0.75" 0.75" ————— / ' . e
u | l _ =E==== #10X 2-1/2" PFH #10X 2-1/2" PFH e 0
|~ WOOD SCREW ULTIMATE HURRICANE ASTRAGAL WOOD SCREW o
ULTIMATE FLIP LEVER ASTRAGAL 2
COMPOSITE SNAP-ON 2X FRAMING ULTIMATE MULTIPOINT ASTRAGAL o FRAMING o
CAP (G>=042) ENDL(JSQB‘B’;;“?ZEOR)STR'P ENDURA WEATHERSTRIP (G >=0.42)
N DOOR PANEL (QEBD/PE 650) .
%
2 m
= =
I LV e e TN 5
E[ / \ / \ oate: 11/8/18
DRYWALL SRYWALL
S Y Y = ey #8 X 2-1/2" PFH #B8X 1"PFHSMS  #8X2-1/2" PFH LATCH #8 X 1" PFH SMS #8 X 2-1/2' PFH scae: N.T.S.
- ——] 125" | WOOD SCREW S HNGE WOOD SCREW o~ 1wpgyy STRIKE PLATE P WOOD SCREW owe. B: UK
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS ok B LFS
) . 1] n RPN 11 DRAWING NO.:
PINE FusionFrame Fusionframe m HORIZONTAL CROSS SECTION TX—2906
(1-PIECE) (2-PIECE) W Inswing shown - Outswing also approved
SHEET 6 of _8

© zo18 R.W. BUILDING CONSLILTANTS IND.




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 1-7

\ \\ - uj
INTERIOR EXTERIOR INTERIOR EXTERIOR ENDURA 2NNy, o :'N_’
DOOR PANEL DOOR PANEL WEATHERSTRIP -"“.°:k E H gh 83 2o
/ ENDURA (QEBD/PE 650) ME_RJ_QK Y/ m DOOR PANEL ﬁﬁ%‘ --g % :5""‘-3 E 3 é‘; § gé
DOOR SWEEP ENDURA ENDURA \ RS I Ay g8 gy
DBKR DOOR SWEEP WEATHERSTRIP /L B i ® R
(DBK-R) (QEBD/PE 650) \, INTERIOR EXTERIORE 47 <<l (91T ot rg GE2 s
4§03 o i ¥ : o g o® %
4 D 3% iz il : e £29 § ]
0", R ) 5 B:8 GE
N N T > 335 I
DOOR A ¥ IS FR s 8B°® 5o
PANEL Y™™ 2 gxs . E
H z 8 Su
~\/1 c £ 3% %8
2 ¢ 5092 gp
& Moo 5 5
2 § m%
a
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW (é)
1\ VERTICAL CROSS SECTION ("2 VERTICAL CROSS SECTION {3\ VERTICAL CROSS SECTION ﬁ;\ VERTICAL CROSS SECTION 5
Inswing Adjustable Threshold inswing Arficulating Threshold 7 / Outswing Bump Threshold uiswing Bump Tnresno %)
w 9 Ad W w/ Pin Capture U \-/ = "
3 |58
& |3 ©
gl 2
A T ACE) ol 19 e
— — — 0. Q.
] ] [ ’ | [ ; 1 [ i o
| 4.56' | = 4.56 i | 4.56 | | 4.56" | -
1 INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD §
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN LAI4565RDS 3 o
MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = £50 PSF § %
33| |0
RN ——— " =z
| | w2
= - g g g
in i z o
= F\ﬁ 2 . 5o &
@l
[ eon l ’ I . X S §
. 4.56 ! , 456" ‘-———— 4.56" a}3
<<
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD o
6 ZACL4565 7 IAC4565FN IACLAA4565 ZACAA4565FN ZAC4565RDS } -
MAX. DESIGN PRESSURE = +45 PSF N
- o
z
l | l } CJ ‘ |
?i = ri i I oAaTE: 11/8/18
e z = = scae  N.T.S.
j__ * * ¥ DWG. BY: JK
[ ’ 1 " [ " l [ . ] cHk. B:  LFS
[ 4.56“ ‘ e 4.56 | - 4.56 =1 I 4-56 A DRAWING NO.:
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OQUTSWING THRESHOLD 14 OUTSWING THRESHOLD TX—49806
I0OBL4565 ZOB4565FN ZOB4565RDS FOB4566

SHEET 7 oF _8

© zos R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1018 Flush GLZ Masonite FG door (4904-4909)\C - Drawings\TX-4906-09.dwg, 1-8

HEAD ANCHORS: W
> 1y 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) . ey to
o062 (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) HIOX25TPRHWS 5o 38, B
S . 3 E £x @ g8
v:‘_-O ™M 4'_'(-I-YP) 5;__:' 0 ui OQ 0".
< X {(TYP.) : N = *MH .2 £ . Bu
& % (oo ~ f’L:\ W _E-_‘m .
(TvP.) ‘ o 5 0® 2
o . | % LIRS
. SEE HINGE i S ASTRAGAL STRIKE ‘ T 535 @
g>2 U
T Eﬁf}‘/ DETAL 1 * DETAIL1  PLATE @ HEAD JAMB s 58° g2
= o X g o 3
i | steommany & 3 %tﬁf Sy
5 | B ~  JAMB ANCHORS: 8 =2g5 o
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) a oo 95
. #10 X 3" WOOD SCREW {(1-PIECE JAMB) 8 § L
© N 5 g &
b " £ u
it #8 X 2-1/2" PFH WS 3 @ o
B3k - 7 2
M o T a
" é" =/
SEE HiNC;E #BX1"PFHWS<=jo "1l ®fl ™1~ 48X 3/4" PFH WS
DETAIL il —— 4" X 4" HINGE
\ 2
SEEDETAIL2 OR 3 < B \ &
- el Ey= = 2
* =5 HINGE DETAIL 1 5 Iy 8
R — ~ O % ﬁ <
L l - % Colay
/ | #8X2:1/2"PFHWS ) 2 £
[P, ) SILL ANCHORS: i il 3 3
" . #10 X 2-1/2" PFH WOOD SCREW " ér’ =y Y 8 e
UL 4'(TYP) \—1/4'X 2-3/4" ELCO OR ABXTPRHWS SR ) DlogFp= #8X3/4'PFH W & &
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW [ 4"X 4" HINGE
CONCRETE (MIN. 3000 PSi) u £ &
WOOD (G >=0.42) FRAME ANCHORING A "
XX S
HINGE DETAIL 2 IS
* NOTE: THIS ADDITIONAL ANCHOR z[e
IS REQUIRED FOR D.P. > 45 PSF. )
ola| |
JAMB NOTES: olo| B
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. g é 0
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. LE 5 EJ
CONCRETE ANCHOR NOTES: '8 :
1. Concrete anchor locations at the corners may be ad/usfed to maintain the min. LE =
edge distance to mortar joints: : : 3/16" X 2-3/4" TW CONCRETE SCREW : 1o £
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to OR ASTRAGAL PIN CAPTURE Q =
maintain the min. edge distance to mortar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) @
3. Concrete anchor table: ASTRAGAL STRIKE Nl
- - 1o
= PAN ® 7 ® oo o =
TAPCON® | 3/16 1-3/4" 3 11/ = = 2 = 2 owe: 11/8/18
mw " " " " ScAle: N.T.S.
1apcoN®| 1/4 1-3/4 11172 4 owe. BY:  JK
v IRV 1-3/4" r & V/Z'DIA-HOLE. peran 2 DETAIL 2 DETAIL 3 owe oy __LFS
: - - ING NO.:
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX—4906
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws o prevent the splitting of wood. SHEET 8 oF _8

@ 2018 R.W. BUILDING CONSULTANTS INGC.



